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Section One: Listening Comprehension
Part 1. Picture Questions (8%)

For each picture, you will hear four short statements.
Choose the statement that best describes what you see
in the picture.

(
( )2
\.?"“* 5: '
) R

. N \ \

Part 2. Best Response Questions (12%)
Listen to the question or statement and choose the best
response.

( ) 3.(A) Yes. He wants to try a different kind of

job.

(B) Yeah. He would like to move to a new
house.

(C) True. He is not happy in his
relationship.

(D) Right. He wants to buy some new
clothes.

( )4 (A) True. It won’t cost much money.
(B) L agree. It won’t really work.
(C) Right. He didn’t explain 1t in detail.
(D) I know. He hasn’t finished it vet.

() 5.(A) Yeah. Nothing has changed for a long

time.

(B) True. There is much less crime than
before.

(C) Yes. There is more and more violence
recently.

(D) Right. Police are trying, but it’s not
helping.

Part 3. Conversation Questions (12%)
Listen to each conversation and answer the question.

() 6. (A) She will vote for Jackson.
(B) She doesn’t think the man will win.
(C) Someone has decided not to compete
anymore.
(D) She is hoping to win the class election.

( ) 7.(A) They have to remember difficult ideas.
(B) They should study for the test together.
(C) She can help the man learn something,.
(D) She has finished studying for the test.

( ) 8. (A) He thinks she is being too loud.
(B) She’s wearing very interesting clothes.
(C) She put something on her face today.
(D) He doesn’t like the hat she’s wearing.

Part 4. Short Talk (8%)
Listen to the passage and answer the questions.

( ) 9. (A) The industries that are most responsible

for pollution.

(B) Which countries produce the most
plastic waste.

(C) How some shops are trying to help the
planet.

(D) Ways to reduce your use of plastic at
home.

() 10. (A) Educating customers about the effects

of plastic waste.

(B) Offering to recycle drink bottles and
food wrappers for free.

(C) Not giving customers plastic bags
anymore.

(D) Using a type of plant instead of plastic
wrapping.

FIALL+ 202005 SA4-1



Section Two: Reading Comprehension
Part 1. Vocabulary (28%)

() 1. When attacked, an electric eel (FBEE) can
release powerful electric shocks as
(A) breed (B) defense
(C) admiration (D) controversy

() 2. The professor gave John some on his
report and asked him to rewrite it.
(A) shelter (B) divorce
(C) criticism (D) association

( ) 3. We were all shocked to hear the news

that the famous athlete died.
(A) tragic (B) realistic
(C) brooding (D) concealed

( )4 It is found that blue lighting makes people
calm and less likely to crimes.
(A) forbid (B) isolate
(C) commit (D) withdraw

() 5. The cleaning team is of volunteers
from all around the town.
(A) installed (B) indulged
(C)composed (D) proceeded

() 6. The product I needed was in the next
in the shop, so I moved around the shelf'to

get it.
(A) aisle (B) goods
(C) ingredient (D) dispenser

( ) 7. Experts worry about people’s growing
_____onthe cell phone; they can’t do
anything without it.

(A) reduction  (B) concept
(C)household (D) dependence

Part 2. Cloze (20%)

Although Johansson’s career has been
successful in general, there have been some ups
and downs. In 2017, she faced criticism for

~ (8) a Japanese character in the film Ghost in
the Shell. People felt that role  (9)  to an Asian
actress. She found herself in a similar situation
when she was cast  (10)  a transgender man in
Rub & Tug. Later, she gave up the role and voiced
her support for more _ (11)  in Hollywood.
Johansson had a busy year in 2019. She has won at
least 10 different awards for her moving
performance in Marriage Story, a movie about a
couple going through divorce. Having gone
through divorce herself, she was able to  (12)
her character. In Avengers: Endgame, Johansson
once again plays Black Widow, who finally meets
her end.

( )8 (A)acting
(C) playing

( ) 9. (A) had been given
(B) should be given
(C) has been given
(D) should have been given

(B) finding
(D) blaming

( )10.(A)to (B) on
(C) as (D) for
( )11 (A)diversity  (B) frustration

(C) translation (D) advertisement

( )12.(A)putoff
(C) give off

(B) relate to
(D) wear away

Part 3. Passage Questions (12%)

Aubrie goes to the makeup counter. She wants
advice about choosing the right foundation for her
skin tone. She thinks the one she currently uses is
the right color, but it still looks wrong. The makeup
specialist explains that the key to a flawless look is
matching your skin’s undertone, not its surface tone.
She shows Aubrie three different foundation colors
and explains how to pick the right one. One of them
is too warm, one matches her cheeks but not her
neck, and the last one blends in perfectly on her
neck and face. That one is the right color for her.
Next, Aubrie asks for tips on how to apply it
properly. The makeup specialist says that first, she
should squeeze out a little bit onto her hand. Then,
she should use a makeup brush to dab the
foundation across her face and blend it across her
cheeks, working her way outward. She should also
blend some into her neck so the color is uniform.

() 13. What is the main idea of this passage?

(A) A girl has trouble getting rid of a
salesperson.

(B) A girl attends makeup lesson with her
friends.

(C) A girl asks for a professional’s advice
on makeup.

(D) A girl buys lots of makeup in the
department store.

( ) 14. What problem does Aubrie have?

(A) She needs to give others advice on
makeup.

(B) She has no experience putting on
makeup.

(C) She doesn’t trust the makeup advice
she got.

(D) She doesn’t know how to choose the
right product.

( ) 15. What is NOT a piece of advice found in

this passage?

(A) Match the color to the skin’s
undertone.

(B) Pick a color that is warmer than you
like.

(C) The color should match both the neck
and the face.

(D) Use a little foundation at a time and
dab it with a brush.

FIALL+ 202005 5A4-2
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Magazine Biweekly Test Sample

SECTION ONE: LISTENING COMPREHENSION

In the Listening test, you will be asked to demonstrate how well you understand spoken English. The
entire Listening test will last approximately 45 minutes. There are four parts, and directions are given
for each part. You must mark your answers on the separate answer sheet. Do not write your answers in

your test book.

PART 1 Picture Description

Directions: For each question in this part, you will hear four statements about a picture in your test
book. When you hear the statements, you must select the one statement that best describes what you
see in the picture. Then find the number of the question on your answer sheet and mark your answer.

The statements will not be printed in your test book and will be spoken only one time

Example i g
Lxampie [ONON NG

Example

You will hear:
(A) The man is dancing.
(B) Thanks. I try to make it taste like the
real thing.
(C) They’re standing near the table.
(D) Oh, no. Did I add too much cinnamon

again?

Statement (C), “They’re standing near the table,”

is the best description of the picture, so you should select answer (C) and mark it on your answer

sheet.

PART 2 Best Response Questions

Directions: You will hear a question or statement and three responses spoken in English. They will
not be printed in your test book and will be spoken only one time. Select the best response to the

question or statement and mark the letter (A), (B), or (C) on your answer sheet.

Example
You will hear: Where is the meeting room?

You will also hear:  (A) To meet the new director.



(B) It’s the first room on the right.
(C) Yes, at two o’clock.

The best response to the question “Where is the meeting room?” is choice (B), “It’s the first room on

the right,” so (B) is the correct answer. You should mark answer (B) on your answer sheet.

PART 3 Conversation Questions

Directions: You will hear some conversations between two people. You will be asked to answer three
questions about what the speakers say in each conversation. Select the best response to each question
and mark the letter (A), (B), (C), or (D) on your answer sheet. The conversations will not be printed in
your test book and will be spoken only one time.

Listen to the paragraph and answer the questions.

Example
You will hear: (Male) I don’t know if we should make the purchase from Bob or Jim.

(Female) Well, we’ve been using Bob for a long time. And we’re always satisfied.
(Male) True. But I’ve heard good things from other people about Jim.

(Female) So, call up Jim and ask him to give us a quote.

Q: What does the woman want the man to get from Jim?

You will read: (A) The price he will charge for the services and products.
(B) An example of the work he does so they can try it out.
(C) Something he says about his product that sounds important.

(D) A description of his previous working experience.

The best response to the question “What does the woman want the man to get from Jim?” is (A), “The
price he will charge for the services and products.” Therefore, you should choose answer (A) and write

it in the parentheses in front of the question number.

PART 4 Short Talk

Directions: You will hear some talks given by a single speaker. You will be asked to answer three
questions about what the speaker says in each talk. Select the best response to each question and mark
the letter (A), (B), (C), or (D) on your answer sheet. The talks will not be printed in your test book and

will be spoken only one time.

Example
You will hear:

Scooters are of course a popular form of transportation in Taiwan, but they are catching on in the US

as well. With the price of gas close to three dollars per gallon, commuters are embracing the

10



economical scooter. It only takes US$5 to fill its 1.5 gallon gas tank and it can get 101 miles per gallon.
Try doing that in a car! Scooter sales in the US have rocketed from 12,000 sold in 11017 to 113,000 in
2005, and the boom is not expected to slow anytime soon. With more scooters being sold, riders are
forming clubs and lobbying governments for more scooter-friendly laws. There are also a number of
websites devoted to scooter maintenance springing up on the Internet. The cost benefits of scooter
ownership are obvious, but riders say they also enjoy the fun and efficiency of riding a scooter. Try

weaving through traffic jams in a car!

You will hear: 1. How many miles can a scooter get on one tank of gas according to the passage?
You will read:  (A) Fifty miles.

(B) One hundred miles.

(C) One hundred fifty miles.

(D) Two hundred miles.

—  The answer to this question is (C).

SESSION TWO: READING COMPREHENSION

In the Reading test, you will read a variety of texts and answer several different types of reading
comprehension questions. The entire Reading test will last 1545 minutes. There are three parts, and
directions are given for each part. You are encouraged to answer as many questions as possible within

the time allowed. You must mark your answers on you question/answer sheet..

PART 1. Fill-in-the-Blank Questions

Directions: A word or phrase is missing in each of the sentences below. Four answer choices are
given below each sentence. Select the best answer to complete the sentence.

Then mark the letter (A), (B), (C), or (D) on your answer sheet.

1. The financial audit of Soft Peach Software----completed on Wednesday by a certified accounting

firm.
(A) to be
(B) having been
(C) was
(D) were
PART 2. Cloz

Directions: Read the texts that follow. A word or phrase is missing in some of the sentences. Four
answer choices are given below each of the sentences. Select the best answer to complete the text.

Then mark the letter (A), (B), (C), or (D) on your answer sheet.

11



Sample Questions -
These days, Honda sells US$80 billion dollars in products each year. It is an industry leader in cars,
motorcycles, and lawnmowers. Indeed, it’s hard to believe that it once operated out of a wooden
__(3)_. So how did Honda, founded in Japan by Soichiro Honda in 1948, become so successful in the
__(4)__ of strong competition? There are a number of different theories. One put Honda’ success
down _ (5) _acombination of luck, timing, and adaptability instead of a long-term strategy. Honda
initially wanted to sell big motorcycles in the US, since Americans love their gas _ (6) . But their
employees there realized the little scooters they rode at work attracted a lot of attention, so they
changed their strategy. Another theory says that Honda has benefited from economies of  (7) , in
which engines are mass-produced, thus keeping cost-per-unit low. Whatever the reason, there is
definitely some genius behind the making of Honda as a global brand.
( )3 (A track

(B) shack

(C) casket

(D) plank

— The answer to this question is (B).

()4 (A way
(B) back
(C) mass
(D) face

— The answer to this question is (D).

PART 3. Passage Questions

Directions: In this part you will read a selection of texts, such as magazine and newspaper articles,
letters, and advertisements. Each text is followed by several questions. Select the best answer for each

question and mark the letter (A), (B), (C), or (D) on your question/answer sheet.

Sample Questions
From 11011 to 2002, Argentina struggled with mounting debts and high unemployment, due to
IMF-directed economic policies enacted to fight inflation. Many people blame the IMF for the

economic collapse which followed.

Foreign investors lost confidence in Argentina, prompting a destabilizing movement of USD holdings
offshore, and the government froze bank accounts. The country defaulted on its debts after people took
to the streets, forcing the government to collapse. The currency was previously fixed as equal to the
USD, but this policy was abandoned, leading to a crash which sent many people’s savings and

investments down the drain.

12



A few years later, Argentina has come a long way. The incoming president, Nestor Kirchner, was free
to introduce big changes, like improving the tax collection system and increasing social welfare
spending, while maintaining tight fiscal control. Restructuring Argentina’s debt has saved billions, and
controls to prevent short-term investments have been implemented. The low exchange rate has boosted

exports, attracted investment, and helped the domestic economy by making imports more expensive.

Today, Argentina’s GDP growth rivals China’s, it has no debt to the IMF, and has healthy foreign

currency reserves. There is still a long way to go, but the collapse of 2002 was not all bad.

() 8. Why did the Argentine government freeze bank accounts?
(A) To restore confidence.
(B) To default on its debts.
(C) To prevent too much money leaving the country.
(D) To follow the IMF’s policies.

— The answer to this question is (C).

( ) 9. What change to policy was made after the government collapsed?
(A) Savings and investments were abandoned.
(B) The currency was no longer equal to the dollar.
(C) The US dollar was adopted as the new currency.
(D) Argentina did not repay its debts.

— The answer to this question is (B).

13



>
o~

>
o~

>
o~

>
o~

>
o~

Iy
i

M
Ba)

[t & =

= 2

9057 03p 895 £ & %2k KA+ € R I
9457 19p 935 & R % 2% KA+ € R 1B I
9557 04p 945 & R % 2% ik ¢ k12 1
9647 19p 955 & & % 2% ik ¢ R 12 1
99#£47 29p 98K & & ¥ 2#%%%2»%_33%@&
10137 8p 1005 # & % 6= {75z § KR
102117 21 p 128 2R % | EPHFEXRBL D

ARG BETROTE BERAE FRAREDN S - LT ERT R T o
F R (T SRR -
DARPITRA R s RRTREFR%R D TR - FP IR L ET I kA
RE B2 LAY F -
CE A IR AR S T RRAE é‘ﬁﬁ#%ﬁ°§4°ﬂk20@%ﬁ’
PE SRR T EE A 30 AP FAAFIENTREEFAARR
POEBE RS BRI T RN E LR -
CEA Y REFHIE A E CRR AR A ERIAL Y N A% AFE
LF o FRETFEP S LEE (el PEARER) SRR R PRE
FE T B EF PP RTRTR PRI EATE
:%4*y$£ TOOFRBHER I G AR TR GE A RIE
e iBE REREE -
CEALTHEEFET FILERD LR RSP A TR

i rB o YREAF FRFHE - MBI 7 A
e i oy o Ng BwEs T4 FLENFES

PHEAEF AR FZFELF S FLRLE R EEL > S Y R el
AN

CEAE T Y R R KR T 5T TR 2 i A %§\§§§
ﬂw%%?%’ﬁéﬁﬁ\ﬁa\%ﬁﬁﬂﬁéﬂ“ MEFEH - T ELT
2L EM A FENEBR A F -

Fhddee A IR F T2 2B SN > R ST HFRAR: 2 RIET ~ B
TR R T N B REFAREEE 0 p R A% T YR
FREWEESF RS A7 G0 FLRERACRFR a%%%ﬁﬂ’@%
A AR AR FRARLGEEEL 0 4 e B s
BANYEpE, 2@ PR B EFRE WAL A
RRABEFFEAZAD R AT BFPP PR L AL B PR
FE ﬁﬂﬁ“ﬁé%ﬂfz:ﬁ#.&ﬁu;@ E O T ek HEIL b A o
WA B TR R E BB F O FERBAR U, o G EY S
%”?¢?§°ﬁj%’ﬂko

ELF A YRR g A R AR A TR AFTEAR RS P AREE R
PREFREPEDSEUF AR B3 R RFAPLIF I FERK
EH oA BRI RS

14



FLoGEIARDMG AZFEY  ARARERNZ FHAT L
FLZE ARG RLE > HFREPLLEEET o BLF o
[ |
URERE L SN A ol

83F £ R 5 L= TrC g R ITUE
8O ER S - BWH BRI E
965 &£ K 5 - FHF ¢ RSB
%é&&?:?ﬂ%ﬁgéévi@
FER S - FH T ¢RI 7L
1005 & & % = = 7 50 § 3R 15 3730 i
1%%&&%:§ﬂ§ﬁ§&lfiﬁ
1048 £ B % - B F ¢RI H

% - 0%

F2 Rt 3f o BN F S RGRRF RS W R F 2 TR AA RS
B e R G RLE > RHRT

22
S

i
%

T o R L R R

FE e
A EER-N RSl S ﬂﬁi’ﬂ"w%4;¥—ﬂ’§ﬁi%4iﬂ%

JAFEEEE LR ER RS e

)
N
—\

V.

B T B L TURE IR L ABS T T 2 0L Op) B B EES

FOFRADANELBPFHEBFEE > Mk E (UTE) PUb o X MEE L

BA D ERKE 4 (9T) 2 EBAS WEE s LR AFEAE 3P L AR

Eep T 4 QBREESBE BT

- N HABE AT HARS P BAKY Gl FEFIAMRE AL A
W8 B o dEIRZ BN M IRAF 0 S ARA R SRR BT L AR B
VRAE R AR EY  ERAS S %”ﬁé%,$géﬁsgo

S BA MR AB TS RE AT

FH XN P A TEEL Y

CF AT A RENF 2 A EE RS R E 27 L o

wos B BT 0 2 KR E R R F R 34 PP

\——\
=

[T

—

|t

)‘P}
g
m

15



AN

CHA TR L F o T e RS Y ok

L3 o b e & B RS Aet & .;égﬁgﬁ .

2R R R R AR N REE NN R

3.8 ,Z‘% (#F) & fFrcH 4 F gk iz g o

LEE AR SR R -
5fﬁ&i?@i?%%wmﬂﬁ%ﬁzﬂsﬁa%zy%@gﬁ@ﬁo
OAVEAF AN RTEA G AAM PR E P Y Y

THENREFLGE (P EFRL § BMER S AL ¢ A PREE) -

8.7 2 % /»\ﬁ:?ﬂﬁfvﬂ* R BEg (R = R v P E A AR R L

.

2@P 2 E [l 2z R EEP] )

CHA SRR EREL o BNEp 10 p oo S RE o R MR ¢ B
“k@(%F)EW””’dW%f'ﬁ(*n)#ﬁ%’i%%ﬁﬁﬁﬁﬁﬁi
ERFEF o~ 5 (T) 2 Bt e g d RiyBp g3 p A CEEF L P

VER A HITY G B HAZIE 1S 4 2 R 2 AT AR kR TRPRL
Bl €82 A RTHFAEY ook > A BT FFARE R o

Jir

% G
B4 e8¢ TR B YRR R E YR A TE L AR R
EE

RS A ER R LR S

RN

ARBLEE I RSB FFREP R AT G B I

16



